				RC Enviro nstructio EF Housto HUB CO-OF	n, Ir RC on, ¹ - No	nc. d/b/a TX o	Industrial H Cafety Tech Carrollt HUB CO-OF	nolo ton, - No	gy, Inc. TX	Farmer En Group Pland HUB CO-OF), LL), TX - No	C K
SEC	TION 1: ASBESTOS CONSULTING SER	VICES	-									
				Primary	y Aw	/ard	Seconda	ry Aı	ward	Alternate	e Aw	ard
Item		Qty		Unit	E>	ctended	Unit	E	xtended	Unit	E	xtended
1	Asbestos Abatement Hazard-Free Certification and Documentation (Based on number of on-site days) (per day)	3	\$	25.00	\$	75.00	\$ 150.00	\$	450.00	\$ 75.00	\$	225.00
2	Bulk Sample Analysis by Polarized Light Microscopy (PLM) (per sample)	1	\$	15.00	\$	15.00	\$ 13.20	\$	13.20	\$ 12.00	\$	12.00
3	Bulk Sample Analysis by Point Count Method	1	\$	40.00	\$	40.00	\$ 38.00	\$	38.00	\$ 30.00	\$	30.00
4	Air Sample Analysis by Phase Contrast Microscopy (PCM)	1	\$	5.00	\$	5.00	\$ 13.00	\$	13.00	\$ 15.00	\$	15.00
5	Air Sample Analysis by Transmission Electron Microscopy (TEM) (24-Hour Turnaround Time) (per sample)	1	\$	70.00	\$	70.00	\$ 65.00	\$	65.00	\$ 85.00	\$	85.00
6	Bulk Sample Analysis by Transmission Electron Microscopy (TEM) (24-Hour Turnaround Time) (per sample)	1	\$	70.00	\$	70.00	\$ 77.00	\$	77.00	\$ 85.00	\$	85.00
7	Asbestos Inspector On-Site Survey											
	regular hours (8:00 am - 5:00 pm) hourly rate	5	\$	55.00	\$	275.00	\$ 70.00	\$	350.00	\$ 85.00	\$	425.00

SEC	TION 1: ASBESTOS CONSULTING SER	VICES		The Burr Dalla HUB	s, TX	x	-	Targus Ass Carroll HUB	ton,	ТΧ	Τe	erracon Col Fort Wo HUB	orth,	ТХ
	ltere	0.5		l lu it				1.1	-			1.1		the read and
ltem 1	Item Asbestos Abatement Hazard-Free Certification and Documentation (Based on number of on-site days) (per day)	Qty 3	\$	Unit 94.00	\$	xtended 282.00	\$	Unit 1,000.00		Extended 3,000.00	\$	Unit 159.00	\$	xtended 477.00
2	Bulk Sample Analysis by Polarized Light Microscopy (PLM) (per sample)	1	\$	14.00	\$	14.00	\$	8.40	\$	8.40	\$	15.00	\$	15.00
3	Bulk Sample Analysis by Point Count Method	1	\$	17.00	\$	17.00	\$	54.00	\$	54.00	\$	30.00	\$	30.00
4	Air Sample Analysis by Phase Contrast Microscopy (PCM)	1	\$	12.00	\$	12.00	\$	9.60	\$	9.60	\$	12.00	\$	12.00
5	Air Sample Analysis by Transmission Electron Microscopy (TEM) (24-Hour Turnaround Time) (per sample)	1	\$	98.00	\$	98.00	\$	102.00	\$	102.00	\$	75.00	\$	75.00
6	Bulk Sample Analysis by Transmission Electron Microscopy (TEM) (24-Hour Turnaround Time) (per sample)	1	\$	108.00	\$	108.00	\$	84.00	\$	84.00	\$	85.00	\$	85.00
7	Asbestos Inspector On-Site Survey		•											
	regular hours (8:00 am - 5:00 pm) hourly rate	5	\$	37.00	\$	185.00	\$	63.00	\$	315.00	\$	125.00	\$	625.00

			RC Enviro nstructio EF Housto HUB CO-OF	n, li RC on, - N	nc. d/b/a TX o	ndustrial H afety Tech Carrollt HUB CO-OF	ton, - No	gy, Inc. TX	I	Farmer En Group Pland HUB CO-OF	o, LLO o, TX - No	C
SEC	TION 1: ASBESTOS CONSULTING SER	VICES										
			Primary			Seconda	-			Alternat		
Item		Qty	Unit	E	xtended	Unit	Ex	ktended		Unit	E	xtended
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 60.00	\$	60.00	\$ 70.00	\$	70.00	\$	85.00	\$	85.00
	contractor recognized paid holidays hourly rate	1	\$ 60.00	\$	60.00	\$ 100.00	\$	100.00	\$	170.00	\$	170.00
8	Report and Specification Writing											
	regular hours (8:00 am - 5:00 pm) hourly rate	5	\$ 80.00	\$	400.00	\$ 130.00	\$	650.00	\$	125.00	\$	625.00
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 85.00	\$	85.00	\$ 130.00	\$	130.00	\$	125.00	\$	125.00
	contractor recognized paid holidays hourly rate	1	\$ 85.00	\$	85.00	\$ 150.00	\$	150.00	\$	250.00	\$	250.00
9	On-Site Air Monitoring (8-Hour Shift, including 10 PCM Air Samples)											
	regular hours (8:00 am - 5:00 pm) hourly rate	7	\$ 60.00	\$	420.00	\$ 70.00	\$	490.00	\$	65.00	\$	455.00

			The Burr Dalla HUB	s, T	X	Т	argus Ass Carrolli HUB	ton, [·]	ТХ	Те	rracon Co Fort Wo HUB	orth	TX
SEC	TION 1: ASBESTOS CONSULTING SER	VICES											
Item	Item	Qty	Unit	E	Extended		Unit	E	xtended		Unit	E	Extended
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 37.00	\$	37.00	\$	94.50	\$	94.50	\$	156.00	\$	156.00
	contractor recognized paid holidays hourly rate	1	\$ 47.00	\$	47.00	\$	94.50	\$	94.50	\$	188.00	\$	188.00
8	Report and Specification Writing												
	regular hours (8:00 am - 5:00 pm) hourly rate	5	\$ 67.00	\$	335.00	\$	63.00	\$	315.00	\$	170.00	\$	850.00
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 67.00	\$	67.00	\$	94.50	\$	94.50	\$	212.00	\$	212.00
	contractor recognized paid holidays hourly rate	1	\$ 78.00	\$	78.00	\$	94.50	\$	94.50	\$	255.00	\$	255.00
9	On-Site Air Monitoring (8-Hour Shift, including 10 PCM Air Samples)												
	regular hours (8:00 am - 5:00 pm) hourly rate	7	\$ 351.00	\$	2,457.00	\$	63.00	\$	441.00	\$	688.00	\$	4,816.00

			RC Enviro nstructio EF Housto HUB CO-OF	n, In RC on, 1 - Nc	nc. d/b/a FX		ndustrial H afety Tech Carrolli HUB CO-OF	nolog ton, 1 - No	gy, Inc. TX	F	Farmer En Group Pland HUB CO-OF	o, LL(o, TX - No	C
SEC	TION 1: ASBESTOS CONSULTING SER	VICES				1				1			
			Primary	Aw	ard		Seconda	ry Au	vard		Alternate	e Aw	ard
Item	Item	Qty	Unit	Ex	tended		Unit	Ex	tended		Unit	E>	tended
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 65.00	\$	65.00	\$	70.00	\$	70.00	\$	65.00	\$	65.00
	contractor recognized paid holidays hourly rate	1	\$ 70.00	\$	70.00	\$	100.00	\$	100.00	\$	130.00	\$	130.00

			The Burr Dalla HUB	s, T>	< .	Т	argus Ass Carrolli HUB	ton, T	Х	Τe	erracon Coi Fort Wo HUB	orth,	TX
SEC	TION 1: ASBESTOS CONSULTING SER	VICES											
Item	Item	Qty	Unit	E	xtended		Unit	Ext	ended		Unit	E	xtended
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 351.00	\$	351.00	\$	94.50	\$	94.50	\$	860.00	\$	860.00
	contractor recognized paid holidays hourly rate	1	\$ 451.00	\$	451.00	\$	94.50	\$	94.50	\$	1,032.00	\$	1,032.00

			RC Enviro nstructio ER Housto HUB CO-OP	n, li RC on, - N	nc. d/b/a TX o	ndustrial H afety Tech Carrolli HUB CO-Of	nolc ton, - No	ogy, Inc. TX D	Farmer En Group Pland HUB CO-OF), LL), TX - No	C (
SEC	TION 1: ASBESTOS CONSULTING SER	VICES									
			Primary			Seconda	· · ·		Alternat	-	
Item		Qty	Unit	E	ctended	Unit	E	xtended	Unit	E	xtended
10	On-Site Air Monitoring (10-Hour Shift, including 10 PCM Air Samples) regular hours										
	(8:00 am - 5:00 pm) hourly rate	2	\$ 60.00	\$	120.00	\$ 70.00	\$	140.00	\$ 70.00	\$	140.00
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 65.00	\$	65.00	\$ 70.00	\$	70.00	\$ 70.00	\$	70.00
	contractor recognized paid holidays hourly rate	1	\$ 70.00	\$	70.00	\$ 100.00	\$	100.00	\$ 140.00	\$	140.00
11	Air Monitoring Technician										
	regular hours (8:00 am - 5:00 pm) hourly rate	5	\$ 40.00	\$	200.00	\$ 70.00	\$	350.00	\$ 70.00	\$	350.00
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 45.00	\$	45.00	\$ 70.00	\$	70.00	\$ 70.00	\$	70.00
	contractor recognized paid holidays hourly rate	1	\$ 50.00	\$	50.00	\$ 100.00	\$	100.00	\$ 140.00	\$	140.00

				The Burr Dalla HUB	s, T>	< . <	Т	argus Ass Carroll HUB	ton,	ТХ	Te	erracon Co Fort Wo HUB	orth,	TX
SEC	TION 1: ASBESTOS CONSULTING SER	VICES	1				I							
Item	Item	Qty		Unit	E	xtended		Unit	E	xtended		Unit	E	xtended
10	On-Site Air Monitoring (10-Hour Shift, including 10 PCM Air Samples)										_		_	
	regular hours (8:00 am - 5:00 pm) hourly rate	2	\$	410.00	\$	820.00	\$	63.00	\$	126.00	\$	860.00	\$	1,720.00
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$	410.00	\$	410.00	\$	94.50	\$	94.50	\$	1,075.00	\$	1,075.00
	contractor recognized paid holidays hourly rate	1	\$	510.00	\$	510.00	\$	94.50	\$	94.50	\$	1,290.00	\$	1,290.00
11	Air Monitoring Technician													
	regular hours (8:00 am - 5:00 pm) hourly rate	5	\$	35.00	\$	175.00	\$	63.00	\$	315.00	\$	86.00	\$	430.00
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$	35.00	\$	35.00	\$	94.50	\$	94.50	\$	108.00	\$	108.00
	contractor recognized paid holidays hourly rate	1	\$	50.00	\$	50.00	\$	94.50	\$	94.50	\$	129.00	\$	129.00

		 RC Envir nstructio EF Houst HUB CO-OF	n, li RC on, - N	nc. d/b/a TX o		Industrial H Safety Tech Carrolli HUB CO-Of	ton, - No	ogy, Inc. TX o		Farmer En Group Pland HUB CO-OF), LL), T2 - N(.C K
SECTION 1: ASBESTOS CONSULTING SEF	RVICES			<u>.</u>					1			
		Primary				Seconda	-			Alternat		
Item Item 12 Individual Asbestos Consultant (Special Called Meeting)	Qty	Unit		xtended		Unit	E	Extended		Unit		xtended
regular hours (8:00 am - 5:00 pm) hourly rate	4	\$ 85.00	\$	340.00	\$	130.00	\$	520.00	\$	150.00	\$	600.00
after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 90.00	\$	90.00	\$	145.00	\$	145.00	\$	150.00	\$	150.00
contractor recognized paid holidays - hourly rate	1	\$ 100.00	\$	100.00	\$	150.00	\$	150.00	\$	300.00	\$	300.00
13 Drafting			-		-		-		-		-	
regular hours (8:00 am - 5:00 pm) hourly rate	4	\$ 50.00	\$	200.00	\$	55.00	\$	220.00	\$	70.00	\$	280.00
after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 55.00	\$	55.00	\$	55.00	\$	55.00	\$	70.00	\$	70.00
contractor recognized paid holidays hourly rate	1	\$ 60.00	\$	60.00	\$	75.00	\$	75.00	\$	140.00	\$	140.00
Total Section 1 - Asbestos	<u>.</u>	\$;	3,190.00	\$		1	4,761.20	\$			5,232.00

		The Burr Dalla HUB	s, TX	Χ.	Т	Fargus Ass Carroll HUB	ton,	ТХ	Те	erracon Co Fort Wo HUB	orth,	ТΧ
SECTION 1: ASBESTOS CONSULTING SE	RVICES											
Item Item	Qty	Unit	E	xtended	_	Unit	E	xtended		Unit	E	xtended
12 Individual Asbestos Consultant (Special Called Meeting)	· · ·											
regular hours (8:00 am - 5:00 pm) hourly rate	4	\$ 70.00	\$	280.00	\$	91.00	\$	364.00	\$	159.00	\$	636.00
after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 70.00	\$	70.00	\$	136.50	\$	136.50	\$	198.00	\$	198.00
contractor recognized paid holidays hourly rate	- 1	\$ 80.00	\$	80.00	\$	136.50	\$	136.50	\$	239.00	\$	239.00
13 Drafting												
regular hours (8:00 am - 5:00 pm) hourly rate	4	\$ 35.00	\$	140.00	\$	40.00	\$	160.00	\$	65.00	\$	260.00
after hours (5:01 pm - 7:59 am) hourly rate and weekends	1	\$ 35.00	\$	35.00	\$	60.00	\$	60.00	\$	81.00	\$	81.00
contractor recognized paid holidays hourly rate	1	\$ 45.00	\$	45.00	\$	60.00	\$	60.00	\$	97.00	\$	97.00
Total Section 1 - Asbestos	•	\$		7,189.00	\$			6,632.00	\$		1	5,951.00

			RC Enviro nstructio EF Housto HUB CO-OF	n, li RC on, - N	nc. d/b/a TX o	Т	argus Ass Carrolli HUB CO-OF	ton, - Ye	TX s	Farmer En Group Pland HUB CO-OF), LL), TX - No	C (
	TION 2: INDOOR AIR QUALITY CONSU VICES	LTING										
			Primary	Y Av	vard		Seconda	ry A	ward	Alternat	e Aw	/ard
Item	Item	Qty	Unit	E	xtended		Unit	E	xtended	Unit	E	xtended
1	Allergenco/Anderson samples (per sample)	10	\$ 70.00	\$	700.00	\$	60.00	\$	600.00	\$ 45.00	\$	450.00
2	Air Cell samples											
	sample 24 hr	10	\$ 45.00	\$	450.00	\$	60.00	\$	600.00	\$ 75.00	\$	750.00
	sample 8 hr	10	\$ 50.00	\$	500.00	\$	84.00	\$	840.00	\$ 95.00	\$	950.00
3	Swab/Wipe samples											
	sample 24 hr	4	\$ 40.00	\$	160.00	\$	36.00	\$	144.00	\$ 40.00	\$	160.00
	sample 8 hr	4	\$ 45.00	\$	180.00	\$	60.00	\$	240.00	\$ 65.00	\$	260.00
4	Bulk/Tape Samples											
	sample 24 hr	1	\$ 40.00	\$	40.00	\$	36.00	\$	36.00	\$ 40.00	\$	40.00
	sample 8 hr	1	\$ 45.00	\$	45.00	\$	60.00	\$	60.00	\$ 65.00	\$	65.00
5	CO2 Samples (per sample)	30	\$ 2.00	\$	60.00	\$	10.00	\$	300.00	\$ 20.00	\$	600.00
6	CO Samples (per sample)	30	\$ 2.00	\$	60.00	\$	10.00	\$	300.00	\$ 20.00	\$	600.00
7	Temp/Humidity samples (per sample)	2	\$ 2.00	\$	4.00	\$	10.00	\$	20.00	\$ 20.00	\$	40.00
8	VOC Scan Samples (per sample)	2	\$ 5.00	\$	10.00	\$	10.00	\$	20.00	\$ 245.00	\$	490.00
9	Formaldehyde Samples (per sample)	2	\$ 5.00	\$	10.00	\$	10.00	\$	20.00	\$ 120.00	\$	240.00
10	Ozone Samples (per sample)	2	\$ 5.00	\$	10.00	\$	10.00	\$	20.00	\$ 95.00	\$	190.00
11	Lead Samples (XRF hourly rate)	2	\$ 65.00	\$	130.00	\$	99.00	\$	198.00	\$ 85.00	\$	170.00

			Te	rracon Co Fort We HUB	orth,	ТХ		ndustrial H afety Tech Carroll HUB	nnolo ton, '	gy, Inc. TX		rrell Gro as, TX - Yes	bup
	TION 2: INDOOR AIR QUALITY CONSU VICES	LTING											
Item	Item	Qty		Unit	E	xtended		Unit	E	xtended	Unit	Ext	ended
1	Allergenco/Anderson samples (per sample)	10	\$	65.00	\$	650.00	\$	66.00	\$	660.00	\$ -	\$	-
2	Air Cell samples												
	sample 24 hr	10	\$	29.00	\$	290.00	\$	78.00	\$	780.00	\$ -	\$	-
	sample 8 hr	10	\$	29.00	\$	290.00	\$	85.00	\$	850.00	\$ -	\$	-
3	Swab/Wipe samples												
	sample 24 hr	4	\$	29.00	\$	116.00	\$	33.00	\$	132.00	\$ -	\$	-
	sample 8 hr	4	\$	29.00	\$	116.00	\$	77.00	\$	308.00	\$ -	\$	-
4	Bulk/Tape Samples												
	sample 24 hr	1	\$	20.00	\$	20.00	\$	33.00	\$	33.00	\$ -	\$	-
	sample 8 hr	1	\$	20.00	\$	20.00	\$	77.00	\$	77.00	\$ -	\$	-
5	CO2 Samples (per sample)	30	\$	-	inclu	uded	\$	-	inclu	uded	\$ -	\$	-
6	CO Samples (per sample)	30	\$	-	inclu	uded	\$	-	inclu	uded	\$ -	\$	-
7	Temp/Humidity samples (per sample)	2	\$	-	inclu	uded	\$	-	inclu	uded	\$ -	\$	-
8	VOC Scan Samples (per sample)	2	\$	295.00	\$	590.00	\$	420.00	\$	840.00	\$ -	\$	-
9	Formaldehyde Samples (per sample)	2	\$	96.00	\$	192.00	\$	102.00	\$	204.00	\$ -	\$	-
10	Ozone Samples (per sample)	2	\$	73.00	\$	146.00	\$	79.00	\$	158.00	\$ -	\$	-
11	Lead Samples (XRF hourly rate)	2	4	25/day	\$	425.00	no	bid			\$ -	\$	-

			ERC Environmental & Construction, Inc. d/b/a ERC Houston, TX HUB - No CO-OP - Yes					Targus Associates, LLC Carrollton, TX HUB - Yes CO-OP - Yes				Farmer Environmen Group, LLC Plano, TX HUB - No CO-OP - Yes		
	TION 2: INDOOR AIR QUALITY CONSU	LTING												
				Primary	Aw	vard		Seconda	ry A	ward		Alternate	e Aw	/ard
Item	Item	Qty		Unit		xtended		Unit	E	xtended		Unit	E	xtended
12	IAQ Report Writing													
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	75.00	\$	750.00	\$	63.00	\$	630.00	\$	90.00	\$	900.00
	after hours - (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	75.00	\$	150.00	\$	94.50	\$	189.00	\$	90.00	\$	180.00
	contractor recognized paid holidays hourly rate	2	\$	85.00	\$	170.00	\$	94.50	\$	189.00	\$	180.00	\$	360.00
13	IAQ Specifications													
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	75.00	\$	750.00	\$	63.00	\$	630.00	\$	95.00	\$	950.00
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	75.00	\$	150.00	\$	94.50	\$	189.00	\$	95.00	\$	190.00
	contractor recognized paid holidays hourly rate	2	\$	85.00	\$	170.00	\$	94.50	\$	189.00	\$	190.00	\$	380.00
14	IAQ final report						-		-		-			
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	75.00	\$	750.00	\$	63.00	\$	630.00	\$	90.00	\$	900.00

			Te	rracon Col Fort Wo HUB	orth	, TX	ndustrial F afety Tech Carrolli HUB	nol ton,	ogy, Inc. TX		The Burrell Grou Dallas, TX HUB - Yes		
	TION 2: INDOOR AIR QUALITY CONSU VICES	LTING								1			
ltem	Item	Qty		Unit	E	Extended	Unit		Extended		Unit	Ext	ended
	IAQ Report Writing		1				-			1			
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	125.00	\$	1,250.00	\$ 130.00	\$	1,300.00	\$	-	\$	-
	after hours - (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	125.00	\$	250.00	\$ 130.00	\$	260.00	\$	-	\$	-
	contractor recognized paid holidays hourly rate	2	\$	187.50	\$	375.00	\$ 200.00	\$	400.00	\$	-	\$	-
13	IAQ Specifications												
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	125.00	\$	1,250.00	\$ 130.00	\$	1,300.00	\$	-	\$	-
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	125.00	\$	250.00	\$ 130.00	\$	260.00	\$	-	\$	-
	contractor recognized paid holidays hourly rate	2	\$	187.50	\$	375.00	\$ 200.00	\$	400.00	\$	-	\$	-
14	IAQ final report	-	-		-			-		-		-	
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	125.00	\$	1,250.00	\$ 130.00	\$	1,300.00	\$	-	\$	-

	TION 2: INDOOR AIR QUALITY CONSUI	LTING	RC Enviro nstructio EF Housto HUB CO-OF	n, li RC on, - N	nc. d/b/a TX o	Targus Associates, LLC Carrollton, TX HUB - Yes CO-OP - Yes					Farmer Environme Group, LLC Plano, TX HUB - No CO-OP - Yes			
SER	NICES		Primary	. Δ.	vard		Seconda	rv A	ward		Alternat		vard	
Item	Item	Qty	Unit		xtended		Unit	<u> </u>	xtended		Unit		xtended	
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$ 75.00	\$	150.00	\$	94.50	\$	189.00	\$	90.00	\$	180.00	
	contractor recognized paid holidays hourly rate	2	\$ 85.00	\$	170.00	\$	94.50	\$	189.00	\$	180.00	\$	360.00	
15	Typist/Clerical					-						-		
	regular hours (8:00 am - 5:00 pm) hourly rate	8	\$ 35.00	\$	280.00	\$	44.00	\$	352.00	\$	35.00	\$	280.00	
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$ 40.00	\$	80.00	\$	66.00	\$	132.00	\$	35.00	\$	70.00	
	contractor recognized paid holidays hourly rate	2	\$ 40.00	\$	80.00	\$	66.00	\$	132.00	\$	70.00	\$	140.00	
16	IAQ Consultant													
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$ 90.00	\$	900.00	\$	91.00	\$	910.00	\$	95.00	\$	950.00	

			Te	Terracon Consultants, Inc. Fort Worth, TX HUB - No			Industrial Hygiene and Safety Technology, Inc. Carrollton, TX HUB - No					The Burrell Group Dallas, TX HUB - Yes			
	SECTION 2: INDOOR AIR QUALITY CONSULTING SERVICES														
ltem	Item	Qty		Unit	F	Extended		Unit	F	Extended		Unit	Fx	tended	
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	125.00	\$	250.00	\$	130.00	\$	260.00	\$	-	\$	-	
	contractor recognized paid holidays hourly rate	2	\$	187.50	\$	375.00	\$	200.00	\$	400.00	\$	-	\$	-	
15	Typist/Clerical														
	regular hours (8:00 am - 5:00 pm) hourly rate	8	\$	38.00	\$	304.00	\$	45.00	\$	360.00	\$	-	\$	-	
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	38.00	\$	76.00	\$	67.00	\$	134.00	\$	-	\$	-	
	contractor recognized paid holidays hourly rate	2	\$	57.00	\$	114.00	\$	90.00	\$	180.00	\$	-	\$	-	
16	IAQ Consultant														
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	135.00	\$	1,350.00	\$	130.00	\$	1,300.00	\$	-	\$	-	

				RC Envire nstructio EF Houste HUB CO-OF	nc. d/b/a TX o	Targus Associates, LLC Carrollton, TX HUB - Yes CO-OP - Yes					Farmer Environmenta Group, LLC Plano, TX HUB - No CO-OP - Yes			
	TION 2: INDOOR AIR QUALITY CONSUI VICES	TING												
02.1				Primary		vard		Seconda	rv A	ward		Alternate	e Aw	ard
Item	Item	Qty		Unit		xtended		Unit	-	xtended	Unit		E	tended
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	90.00	\$	180.00	\$	136.50	\$	273.00	\$	95.00	\$	190.00
	contractor recognized paid holidays hourly rate	2	\$	100.00	\$	200.00	\$	136.50	\$	273.00	\$	190.00	\$	380.00
17	IAQ Technician													
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	55.00	\$	550.00	\$	63.00	\$	630.00	\$	75.00	\$	750.00
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	55.00	\$	110.00	\$	94.50	\$	189.00	\$	75.00	\$	150.00
	contractor recognized paid holidays hourly rate	2	\$	65.00	\$	130.00	\$	94.50	\$	189.00	\$	150.00	\$	300.00
18	Air Quality Oversight for ten (10) hours per day by IAQ Tech	2	\$	550.00	\$	1,100.00	\$	63.00	\$	126.00	\$	75.00	\$	150.00
19	Administrative Assistant													
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	40.00	\$	400.00	\$	44.00	\$	440.00	\$	45.00	\$	450.00

			Te	rracon Co Fort Wo HUB	orth	, TX	Industrial Hygiene and Safety Technology, Inc. Carrollton, TX HUB - No						rell Gro is, TX - Yes	oup
	TION 2: INDOOR AIR QUALITY CONSUL VICES	LIING												
ltom	Item	Qty		Unit		Extended		Unit		Extended		Unit	Evt	ended
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	135.00	\$	270.00	\$	130.00	\$	260.00	\$	-	\$	-
	contractor recognized paid holidays hourly rate	2	\$	202.50	\$	405.00	\$	200.00	\$	400.00	\$	-	\$	-
17	IAQ Technician													
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	85.00	\$	850.00	\$	80.00	\$	800.00	\$	-	\$	-
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	85.00	\$	170.00	\$	80.00	\$	160.00	\$	-	\$	-
	contractor recognized paid holidays hourly rate	2	\$	127.50	\$	255.00	\$	160.00	\$	320.00	\$	-	\$	-
18	Air Quality Oversight for ten (10) hours per day by IAQ Tech	2	\$	850.00	\$	1,700.00	\$	800.00	\$	1,600.00	\$	-	\$	-
19	Administrative Assistant													
	regular hours (8:00 am - 5:00 pm) hourly rate	10	\$	38.00	\$	380.00	\$	55.00	\$	550.00	\$	-	\$	-

			RC Enviro nstructio ER Housto HUB CO-OP	n, Ir RC on, ¹ - No	nc. d/b/a TX o					F	mental C C es		
	TION 2: INDOOR AIR QUALITY CONSUI VICES	LTING											
			Primary	y Aw	/ard		Seconda	ry Aı	vard		Alternate	e Aw	vard
Item	Item	Qty	Unit	Ex	ctended		Unit	E	xtended		Unit	E	xtended
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$ 40.00	\$	80.00	\$	66.00	\$	132.00	\$	45.00	\$	90.00
	contractor recognized paid holidays hourly rate	2	\$ 45.00	\$	90.00	\$	66.00	\$	132.00	\$	90.00	\$	180.00
Tota	I Section 2 - Indoor Air Quality			\$ 9	9,749.00			\$1	0,332.00	\$		1	3,485.00

			Те	rracon Cor Fort Wo HUB	TX	Industrial Hygiene and Safety Technology, Inc. Carrollton, TX HUB - No					The Burrell Group Dallas, TX HUB - Yes				
	TION 2: INDOOR AIR QUALITY CONSU VICES	LTING	T												
Item	Item	Qty		Unit	E	xtended		Unit	E	xtended		Unit	Exte	ended	
	after hours (5:01 pm - 7:59 am) hourly rate and weekends	2	\$	38.00	\$	76.00	\$	82.50	\$	165.00	\$	-	\$	-	
	contractor recognized paid holidays hourly rate	2	\$ 57.00		\$	114.00	\$	110.00) \$ 220.00		\$	-	\$	-	
Total Section 2 - Indoor Air Quality					4,544.00	\$ 16,371.00					No Bid (Section 2)				